£ = Bk

S0H% NEE B gkE K4 BV A BEl ks il HH
2m12 1 414 FHE fEXE (lEKRFE 4 wmER CEEAEENT b E 10/18
2m09 2 70 I —f FdERTE M2 EBRIR BRI TAHE Xa—T LV RZ—RAX T LEH 8/23
2m00 3 607 A% B SLETKRY 1 HARR HARERESE LETFHERS B AR 7/24
2m00 3 415 E¥ LA flERE 4 wER EALE PN e (NEPN 11/1
1n88 4 206 g B& Ry 3 R TRV e— T4 TAREN K 8/1
1m96 5 417 FE KR flBERE 4 EHIR [EPNES =L 8/8
1m95 6 421 fEyE HE B XRE 4 HEHEE ALK AR i) 8/4
1m95 6 400  WE R flBERFE 2 wBER I If=PN X (NEPN 10/4
1m95 6 534  fHk ERt EEKRF 1 HFR JEEARAS DL B[S 10/18
1m93 7 207 RAE KEH O B RFE 2 [LER (L s A PN 8/29
1m91 8 322 LE B ORISR RY 2 fmER Ik IR T Xa—T U Ro—RF T NEH 8/23
1m90 9 402 XK B AlERYE 2 HHR B = AlE KgE e il &k 10/4
1m90 9 312 HE sm EAEEPERY 3 S TFR Hb/dE B ARIC bk 10/19
1m85 10 195  ZH ERE WERE 3 [WRR LI % T PN 8/29
1m85 10 412 K R4 lEXRE 4 FEE LR EPN R & EPN 11/1
1m85 10 405  KH] FkA AUBEKRT 2 PR PN R il &k 10/4
1m85 10 590  WEMRF  HEAE  HAEKREE 1 JojdE R Hb/dE HKRIC [ = 10/18
1m80 11 251 gk = HIAEKRE Ml wmER (RN B IREF 8/8
Im77 12 82 v EEE AAERSE O ML EHUR 48l ThkE BB R TAERS =2 9/19




